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Szaelnt 14,647,811 12,564,936 2,082,875
Xl 247,500
< 986,060
Al 13,414,251
T2Ed 8,807,628 6,920,870 1,886,758
Xl 247,500
< 498,560
Al 8,061,568
A& HEHI 4,980,900 2,082,304 2,898,596
Xl 247,500
< 498,560
Al 4,234,840
AMUEZ SAES & THRD) 501,800 603, 780 A 101,980
401 AIEHI L 2 CHYI 501,800 603, 780 A 101,980
01 A& HI 500,000 600,000 100,000
OANUEZ RANES L AN (AHLH)
500,000,000 =14l 500,000
03 Al S HHI 1,800 3,780 A 1,980
OAIZ 2 HHI 1,800, 000& 14 1,800
LI 0tAZ AN BA 400,000 0 400,000
401 Al HI X 2018 400,000 0 400,000
01 A& Hl 400,000 0 400,000
ORLZ(AFAMAHR~LRANZFAAL) A2
SN I 2AH(L=1,800m, B=12m)
400,000,000 =14 400,000
S22 ZHISA 501,800 0 501,800
401 A& HIZ 201 I 501,800 0 501,800
01 A& HI 500,000 0 500,000
O=S2Z(LUHAMAH~Z2ARI) FHIZAH(L=7
.5km) 500,000,000 =14l 500,000
03 A& S THHI 1,800 0 1,800
OAIZ2 2 HI 1,800,000 14 1,800
22 JAA FHSAM 301,080 0 301,080
401 AIEHI L 2 CHYI 301,080 0 301,080
01 A& HI 300,000 0 300,000
OZBZ (ZHuaHel~EBHEswAtHel) ZHA
A H| 3 AF(L=2.0km) 300,000,000 =14 300,000
03 Al S THHI 1,080 0 1,080
OAIZ 2 HHI 1,080, 000& 14 1,080
2UAS GotusHe~EH0l elE AXIZA 200,000 100,900 99,100
< 100,000
Al 100,000
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TAIEHI &R 200,000 100,900 99,100
< 100,000
Al 100,000
01 A& HI 200,000 100,000 100,000
OF%g g4t e~ ol A& EXISA
200,000,000 =14 200,000
< 100,000
Al 100,000
A4S BHAICEXZ2~EtH =1 1 EXI3A 50,000 0 50,000
401 AIEHI L 20HEI 50,000 0 50,000
1T AIZHI 50,000 0 50,000
OF%s BHAHICLXZ~BH A=W 21T EXI3A
(L=1.0km) 50,000
> &l Al & A HI 50,000,000 » 14l 50,000
SRTSHZ(ZSAMHE~SAAIAHL) A EXSAM 250,000 0 250,000
401 A& HIZ 201 Y] 250,000 0 250,000
01 A& HI 250,000 0 250,000
OsSRceszZ(ZAAHe~aaAIHE) o0& 4
X1 2 At(L=450m) 250,000,000 =14 250,000
HFAMZ(AX et ) s FHHISA 70,000 0 70,000
401 Al HI K 201 I 70,000 0 70,000
01 A& HI 70,000 0 70,000
OFMZ(dEdet ¢) s FHl S AHL=190m)
70,000,000& =14 70,000
SHE ZBZ(FF~38W) A AXSA 301,800 0 301,800
< 150,000
Al 151,800
401 AIEHI L 2CHEI 301,800 0 301,800
< 150,000
Al 151,800
01 A& HI 300,000 0 300,000
Osds AHZ(AFW~2HW) o HISA
(L=320m) 300,000,000& =14 300,000
< 150,000
Al 150,000
03 Al 2 THHI 1,800 0 1,800
OAIE S HHI 1,800, 000& 14 1,800
et w~BRAALAHC 1 HHISA 60,000 0 60,000
< 30,000
Al 30,000
401 A& HIZ 201 I 60,000 0 60,000
< 30,000
Al 30,000
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01 Al&H| 60,000 0 60,000
OEstn~EHAALHZ| &% HHlZAHL=100m)
60,000,000 x 14! 60,000
& 30,000
Al 30,000
2UdZ LR DR SHAAL HEAMY 200,000 0 200,000
= 100,000
Al 100,000
401 AIEHI 2L 2 0HY| 200,000 0 200,000
= 100,000
Al 100,000
01 Al&H| 200,000 0 200,000
Oz U Baiorx EMAAL HEALY
200,000,000 * 1Al 200,000
& 100,000
Al 100,000
ME HE 1028 B 1,203,150 0 1,203, 150
401 AlEHIZL 201 Y| 1,203,150 0 1,203, 150
01 Al&H| 1,200,000 0 1,200,000
Odle A 1028 B 1,200,000,000& =14l 1,200,000
03 AlE 21| 3,150 0 3,150
OAlIE 20l 3,150,000 =14l 3,150
2.2 2 NEF0 AME S (0t28E i 310,370 0 310,370
o)
Xl 247,500
& 18,560
Al 44,310
401 AlEHI L £ 0HY| 310,370 0 310,370
Xl 247,500
& 18,560
Al 44,310
01 Al&H| 309,370 0 309,370
OEHdA~XUAZE SR MM AN 309,370
DEEZ Y HEHOIMAIA A
309,370,000& » 1Al 309,370
Xl 247,500
= 18,560
Al 43,310
03 Al 201 Y| 1,000 0 1,000
OAEE0idl 1,000,000 = 14! 1,000
CHRZ(SSAMHE~FESAZTAIHE) DEMH M 100,000 0 100,000
=2 A}
401 Al HI L 2 0HHI 100,000 0 100,000
01 Al& H| 100,000 0 100,000
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OHFZ (S AHe~FSAZHAIC) REH
H OHE S A 100,000, 000& * 14! 100,000
SAUSE W FREZ B 300,900 0 300,900
401 Al HI K 201 300,900 0 300,900
01 A& tI 300,000 0 300,000
ORUBE U F2E2 24T AH(L=1kn)
300,000,000 =14 300,000
03 Al 2 THHI 900 0 900
OAIE = HHI 900,000 » 14! 900
gEcEE Os9% &X 30,000 0 30,000
401 A& HIZ 201 Y] 30,000 0 30,000
01 A& HI 30,000 0 30,000
O&adeEs N9 & 30,000,000& »14! 30,000
ANe2(2xzw ) LS8 wiAY 200,000 0 200,000
< 100,000
Al 100,000
401 Al HIZ 201 8] 200,000 0 200,000
< 100,000
Al 100,000
01 A& HI 200,000 0 200,000
OXNYdZ (=0 &) 438 WHAE
200,000,000 =14 200,000
< 100,000
Al 100,000
E2 sA2el 2,510,872 3,521,532 A 1,010,660
ANE SXE= 1,833,992 2,804,002 A 970,010
201 L4l 1,343,442 1,645,590 A 302,148
01 At 2t 2l 1,264,940 1,568,662 A 303,722
O1 get=2Hl 7,684
PEZ FRAES> HAZ (R 2 3F)
4,000,000& %14 4,000
PER FAUSASY £42
614,000& 62 X 3,684
O3 2d=¢ 4,200
PERAMIAE BHLY
70,000& 1521 %43 4,200
O5 2&Hl 6,000
PUHH=EF HAZST
8,000 #1501 x2 Al x252 6,000
O6 2=z 1,247,056
DHMAED H2D| 44 ,000& 20 122 1,056
DHAEAXNAE GEZEH(15E)
24,500,000 «35CH 857,500
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CHERYE SHES (5e)
17,900, 000& »9CH 161,100
DHAXTE HS2(06W) 22,200,000 «2CH 44,400
>HETS(HEIIX)E S (06H)
500,000& *6CH * 102 30,000
PE -8 HMENITE EAH
170,000 *90CH x 103 153,000
02 2324l 78,502 76,928 1,574
O1 3322 ¥ HA 14,680
DHAED dIIg 300,000 x3=+12& 10,800
DRMEFED & -otx=E3F 30,0008 +3=5+123 1,080
DRAED AIHY AIBE 50,000& x12& 600
P2 SUHE AER
100,000& x 1+ 12& 1,200
P2 RAE+ ANEE2EE & MHA=
1,000, 0002 = 1CH 1,000
O2 A=l 3,222
DMAED e 799& *BAl 2Hx72 +7TH 3,222
O3 A& &Hl |Xbl 53,000
> HAEH RFH 10,000, 000& * 14! 10,000
> H&EH |X2eld 40,000,000& %14 40,000
PUH=I #F 1,400& x1,0004 1,400
DOl =Dl sA2cldl 50,000 +8CH x4 & 1,600
O4 Xt& - det] 7,600
DX SEU 550,000& »12& 6,600
D> Xte =2l 1,000, 0003 14 1,000
202 04l 1,800 2,400 A 600
01 = LH YI 1,800 2,400 A 600
OANE RANEx g2 & 150,000& = 12& 1,800
206 M= Hl 191,000 556,000 A 365,000
01 = tl 191,000 556,000 A 365,000
g S (SEI HMeEzgs)
500,000& 250 125,000
Oxz3(SEI HEHIE) 200,000& »150& 30,000
OYEA(SEI HEEYE)
25,000& *1,200& 30,000
OPPOICH(=SEI| MEZHEE) 1208 *50,000H 6,000
305 Hal= s 7,000 7,000 0
01 Hia=s 7,000 7,000 0
O&=2 |X2el Eoltha=  7,000,000& 14! 7,000
401 Al HIZ 2018 20,000 501,800 A 481,800
01 A& HI 20,000 500,000 A 480,000
OM&E&ED RXNE+ 20,000,000& =14 20,000
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405 XHoHF S HI 270,750 0 270,750
01 AL ESFH S 270,750 0 270,750
ONMAZEBI(15EE ) 77,000,000& »2CH 154,000
OMEXHI(5EE ) 60,000,000 = 1CH 60,000
OMEEHI(1ES ) 10,000,000 *2CH 20,000
Ostx(AE) 25,000,000 = 1CH 25,000
OM=&LE U= 350,000 »5CH 1,750
OM& d&IIX 2ZAH Ol 5,000,000& 2= 10,000
=& RS+ 150,540 ,540 0
401 AIEHI L 20 150,540 ,540 0
01 A& HI 150,000 ,000 0
OZ& RFNBA(280 =H)
150,000, 0002 * 14! 150,000
03 Al S HHI 540 540 0
OAIZ 2 HHI 540,000& » 14! 540
sHEEZ RAE+ 150,540 ,540 0
401 AIEHI L 2CHEI 150,540 ,540 0
A& HI 150,000 ,000 0
OsHEZZ RAE2(6501 =)
150,000, 000& 14 150,000
03 Al 2 THHI 540 540 0
OAIE =TI 540,000& » 14 540
=& ¥ sHEEZ Xd 251,800 ,900 900
401 Al HIZ 201 Y] 251,800 ,900 900
01 A& HI 250,000 ,000 0
O2% & SHEZZ X T (88 &)
250,000,000 =14l 250,000
03 Al 2 THHI 1,800 900 900
OA &= HHI 1,800, 000& 14 1,800
=& ¥ sHEEZ A Fl 100,000 ,000 0
401 Al HIZ 201 8] 100,000 ,000 0
01 A& HI 100,000 ,000 0
Oz2t ¥ =s0HEEZZ =A EIZREA W1 (88H
L) 100,000,000 = 14! 100,000
2(3)7 Marzel 24,000 ,550 A 41,550
201 Let24E] 21,600 , 150 A 41,550
01 At 22l 21,600 ,600 0
O1 et=2Hl 21,600
PECHXN =22 390,000& x10& X 3,900
PIAH=RE S8 570,000& 10E X 5,700
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DANNSE SHE2 200,000 60! X| 12,000
202 04d| 2,400 2,400 0
01 2L HI 2,400 2,400 0
O=- - Z2RMa 0I& Hel 200,000& x12& 2,400
CZANEZE FA22 1,315,856 1,317,034 N1,178
CZ2AEE A2 311,536 312,714 A1,178
201 et | 11,500 12,078 AB78
01 AR 22l ] 1,700 1,700 0
O1 Bt==H| 1,700
DEZANESES SAES HIT P2
900,000 =14l 900
DEZANESES SANES OHM E X T
80,000 =104 800
02 E2=2=24%H| 9,800 10,378 AN578
O1 2222 2 HA 2,200
DEZAEZE RAEBx NIHEEHE L HAS
1,000,000 ~1CH 1,000
2223 SUHE AFEZ 100,0008 x12€ 1,200
O4 xHg - ABHH| 7,600
DX S 550,000& x12& 6,600
> XHeF 22yl 1,000,000 x 14! 1,000
202 04| 4,200 4,800 A 600
01 2Ll 4,200 4,800 A 600
OZZALE QNEL 49 =X
350,000 x12& 4,200
206 M = H| 34,900 34,900 0
01 X2 H| 34,900 34,900 0
O8ste 13,0008 2,300 & 29,900
oelssd 10,000 x500m* 5,000
401 AlEHIZL 2 0HY| 260,936 260,936 0
01 A& H| 260,000 260,000 0
OEZANEE B 260,000
DEY oTEa B (SHIHY)
20,000 *5,000m 100,000
DEY T2AAHAN B (SIFAH L)
100,000 = 1,000m 100,000
DESCIRQIEIA S22 AH(EDIFH )
200, 000 *300m 60,000
03 AlE £ 0HH]| 936 936 0
OAl&E S0l 936,000 x14! 936
we A2 501,800 501,800 0
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401 Al HIZ 201 Y| 501,800 501,800 0
01 A& HI 500,000 500,000 0
Ooung KA+ 500,000
P2, SHEEZ 300,000,000& =14l 300,000
DEAMAEEZR 200,000,000 =14l 200,000
03 A& =TI 1,800 1,800 0
OAIZ 2 HI 1,800,000& * 14! 1,800
2 ATAIEES KA 22 301,080 301,080 0
401 Al HI L2 THHI 301,080 301,080 0
01 Al&HI 300,000 300,000 0
Oz AMAEE X & EH
200,000,000& * 14! 200,000
OE2HEA® &l 100,000, 000& = 14! 100,000
03 Al 2 THHI 1,080 1,080 0
OA& = HHI 1,080,000 =14l 1,080
T2 SctE FHUHISA 201,440 201,440 0
401 Al H L 2Tl 201,440 201,440 0
01 Al 200,000 200,000 0
O&Z =2ctE HHIZA 200,000,000 =14l 200,000
03 Al 2 0HHI 1,440 1,440 0
OAIE =2 HHI 1,440,000& =14l 1,440
ANEzmg g 1,224,500 1,259,978 N 35,478
& 287,500
Al 937,000
L2 2AEAE 889,500 894,708 A5,208
< 287,500
Al 602,000
L2AZAE RANES 150,540 150,540 0
401 A& HIZ 201 I 150,540 150,540 0
01 A& HI 150,000 150,000 0
OS8E ARBAE RIE=S
150,000, 000& = 14! 150,000
03 AlE 2 THHI 540 540 0
OAIE =2l 540,000 » 14 540
HYEEEZ2 KAz 100,360 100,360 0
401 Al HIZ 2018 100,360 100, 360 0
01 A& HI 100,000 100,000 0
OHEE &2 RIE=+ 100,000, 0003 » 14 100,000
03 Al 2 THHI 360 360 0
OAIE S THHI 360,000 14! 360
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s FUSJAY 3,600 4,200 A 600
202 O4dl 3,600 3,600 0
01 = LH 4 Hi 3,600 3,600 0
Os FU=2AMY I 2A2(EH L 25)
300,000& =122 3,600
28T NuRe~-3H=W 28 I AXISA 60,000 0 60,000
401 AIEHI L 20 60,000 0 60,000
01 A& tl 60,000 0 60,000
Ods MuRea-~-a=n 2t XU X3
At(L=15m, B=3.0m) 15,000,000 *40H A 60,000
SHY 2Ac2 2 2L 0tStZ HUISA 140,000 0 140,000
< 70,000
Al 70,000
401 AIEHI L 201 140,000 0 140,000
< 70,000
Al 70,000
01 A& HI 140,000 0 140,000
OFS MY &2l 2 24 Otserd FHISBAM
140,000,000 * 14! 140,000
= 70,000
Al 70,000
SHE &2 FUAIZE U2 L I3A 100,000 0 100,000
< 50,000
Al 50,000
401 AIEHI L 2 CHYI 100,000 0 100,000
< 50,000
Al 50,000
01 A& HI 100,000 0 100,000
OSHH &t AUAIY A= HEBA
100,000, 0002 14! 100,000
< 50,000
Al 50,000
FEH 2ol I OISt ZHISBA 200,000 0 200,000
= 100,000
Al 100,000
401 Al HIZ 201 8] 200,000 0 200,000
< 100,000
Al 100,000
01 A& HI 200,000 0 200,000
OR2d cel A otsotd HHIZAH(L=1.6
km, B=3.5~6m) 00,000,000 » 14! 200,000
< 100,000
Al 100,000
OrSetd Hl»73 HESXNE FHISAM 25,000 0 25,000
= 12,500
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Al 12,500
401 A& HIZ 201 I 25,000 0 25,000
< 12,500
Al 12,500
01 A& HI 25,000 0 25,000
Obtset2! dl+=2 LXUXE FHI S A
5,000,000 *5H 2~ 25,000
= 12,500
Al 12,500
SHY 222 M08 MY AW ST ZA 60,000 0 60,000
S 30,000
Al 30,000
401 Al HIZ 201 I 60,000 0 60,000
< 30,000
Al 30,000
01 A& HI 60,000 0 60,000
OBMY 222l MBS MY 20Y HHI
A 60,000,000& =14l 60,000
< 30,000
Al 30,000
T A &3 FdAY 50,000 0 50,000
= 25,000
Al 25,000
401 Al HI K 201 I 50,000 0 50,000
< 25,000
Al 25,000
01 A& HI 50,000 0 50,000
O ZH &Z FHIAMY 50,000,000 =14 50,000
< 25,000
Al 25,000
F =2 At 335,000 340,000 A5,000
FOEH ALY 335,000 340,000 A5,000
401 Al HIZ 201 Y] 335,000 340,000 A5,000
01 A& HI 335,000 340,000 A5,000
2oUs =& AARANE(20Y) B3 A
35,000,000 =14l 35,000
OaLx=d wgel == A3 AH(L=230m)
30,000,000 » 14! 30,000
O3 MM iscl oist= 022 HHl S AH(L=2
70m, B=3.0m) 40,000,000& =14 40,000
OXEH &2l SHHEI= 0S¢ ZHESA
(L=170m, B=3.0m) 20,000,000& =14 20,000
OX&EH dE22] M3UHX 0S¢+ ZEIAK(
L=400m, B=3.0m) 50,000,000 =14l 50,000
OX&H 2&2el ZotM=2 72 FHIZ2AHL=30
Om, H=21.0m) 50,000,000 =14l 50,000
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OFHecHH 2H32 &2 U3 AH(L=150m, B=3.0
m) 60,000,000 =14 60,000
Odgd Sdel(HME 2H) &2 ZHISAH(L=2
00m, B=3.0m) 50,000,000& =14 50,000
S AIES2H El 565,995 642,418 AT6,423
Jt2 ZHl 565,995 642,418 AT6,423
2 =HEd o 565,995 642,418 AT6,423
201 Let24d] 20,340 21,371 A 1,031
01 At 2teltl 3,340 2,500 840
O1 Let==EHl 3,340
DLACEE AR A 2,340
O AR4 2dHI 1,500, 000& =14 1,500
O&F=sJ gdXtz 35,0003 x2CH 128 840
DY HEES A2 1,000, 000& 14 1,000
02 3323l 17,000 18,871 21,871
O1 3322 ¥ HA 5,600
DLHESE AFRA 5,600
oMIlZz 150,000& = 12& 1,800
O 4otz 50,000& «x12& 600
OFUE AEZ 100,000& =128 1,200
oxtg E82 & MAHZ 2,000,000 «1CH 2,000
O4 Xt& - det] 11,400
DAY SFUH 700,000& x12& 8,400
D> Xtg =2l 3,000,000& =14 3,000
202 O4dl 4,800 4,800 0
01 2U 01 b 4,800 4,800 0
OJ)23H g2 A 400,000 x12& 4,800
307 glz2+ol & 518,855 615,647 AN96,792
05 RIZHRIE 3 518,855 615,647 A 96,792
Ooxd o= 2 LaA™I=S dl
3,394,610& 1121 x12& 448,089
O#MAIL&E (A2 Y 2 102)
106,846 x2501 x2 2 113 58,766
OZH B =aHI= HMel 3,000,000 *42] 12,000
401 Al HI YL 2 THYI 22,000 0 22,000
01 A& tl 22,000 0 22,000
OLBEAY ARM =8 22T
22,000,000& =14 22,000
E2XY WA 3,246,726 3,391,113 A 144,387
C2XE |X2e 3,246,726 3,391,113 A 144,387
22Xy R 2,926,126 2,900,113 26,013
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201 Le-2d| 1,776,040 1,748,450 27,590
01 At 22l 33,480 33,300 180

O1 get==2Hl 30,300
PeZ 2 - Bots NP2
10,0003 *3,0000H 2 30,000
DA dEAH 100,000& 38 300
o6 g1tz 3,180
DIHZES FHI_AAAE AIEEHH 2=
265,000& »12& 3,180
02 2324l 1,742,560 1,715,150 27,410
O1 32332 & HMA 1,720,560
DIHZE - ZYES MII=
920,000,000& =14 920,000
DEots = 4,000& *10,8005 128 518,400
PEES HII= 5,000&+2,600s+12& 156,000
D> ESCOAL S & &3 10,000,000& = 12& 120,000
DIOIES 2Ed HEI| SdE
4,000 #3004 A+ 12 1,440
PIlSXMelE FSUE AES
60,0003 *2CH*12& 1,440
DOAXNAXN BEZ L HAH3
1,500, 000& »2CH 3,000
PRSI RIFSE= el 70,000& *40! 280
O4 xt& - det] 22,000
DOAXAX SFU 750,000 »2CH =12 18,000
D OAXAI =2l 2,000,000 »2CH 4,000
202 O4dl 4,200 4,800 A 600
01 = LHA YI 4,200 4,800 A 600
OE2xY RANE> g2 =&
350,000& 1228 4,200
206 M= Hl 153,000 193,000 240,000
01 =8l 153,000 193,000 A 40,000
OE2xY B2 L8t M 50,0002 800 40,000
O&Ezx% HZE)| 72,000
DIt2s EZD| 1,500, 0002 *2007H *8/100 24,000
>DEots FEII 100, 000& *6, 00074 *8/100 48,000
O&EdE Ngs do - etd)|
100, 000& *5,000S *8/100 40,000
OdII&H 3+ 50,000& *20& 1,000
401 A& HI L 2T 992,886 953,863 39,023
01 A& HI 991,086 952,063 39,023
OMN2E KRB CIOHAH
500,000& x11,867= *5/100 296,675
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OEos |FXNE+ SItA
300,000& x10,800= *5/ 162,000
O3 |FXNEx HItA
300,000& *2,600S *5/100 39,000
OE2XY AL S22
250,000& 1228 3,000
OE2XrY HSHE RAES
16,914 x12,310S *5/100 10,411
OL=: 28 T&HEAM 100, 000& *300& 30,000
ONES HII&H M 2HEAMNE B+
50,000,000& » 14! 50,000
OLED D128 UMM (MAUZ, Xz, 28
2) 1,000,000& *400S 400,000
03 Al S HHI 1,800 1,800 0
OAIZ 2l 1,800, 000& 14 1,800
E2XY &X 320,600 491,000 A 170,400
401 AIEHIZ 28I 320,600 491,000 A 170,400
1T AIZHI 319,600 490,000 A 170,400
OEd HAXA 2ets &1
1,200,000& 505 60,000
O3 A TS 22 &3
2,000,000 20 40,000
Os2W - -3¢ 25 EXSAM
5,000,000& 20 100,000
ORYZ AXA-LMED 42l H2S B
1,600,000& 315 49,600
ORI AAAMS-TZ2AALAL 2SS &
=]l 5,000,000& 145 70,000
03 Al 2 0HHI 1,000 1,000 0
OAIZ S THHI 1,000, 000& 14! 1,000
e s 2435t 625,950 225,950 400,000
< 200,000
Al 425,950
&EH 018 243 ALY 625,950 225,950 400,000
< 200,000
Al 425,950
Ad&EA 08 43t 4,030 4,030 0
201 £B-2%| 1,630 1,630 0
01 At 22l 1,630 1,630 0
O3 2g=¢ 630
DUAEHOIZEEEE ?Ide a4+
70,000& 921 x13] 630
O6 21tz 1,000
DRI TEAN =1 e Xz
1,000, 000& 14 1,000




A 222

dM: UEN ws 43t
el UHEH 018 2483 At Y (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
202 Od4dl 2,400 2,400 0
01 = LHA YI 2,400 2,400 0
OXN&EAN 08 243 =& 200,000& »12& 2,400
HEA HNM2ELE 2 17,000 17,000 0
201 L2l 12,000 12,000 0
01 At 22l 12,000 12,000 0
O1 get=2Hl 12,000
DOMRENE B2 MA
6,000 x1,000H4 6,000
DOUHNMRENE =25 M
1,000& x1,0002! 1,000
DOUHNMREUNE =2 JIEE2ES
5,000& x1,000H 5,000
301 L2 A3 5,000 5,000 0
09 HALAHIEA S 5,000 5,000 0
OM2HNE X AU 24
20,000& 521 503 5,000
AEH OlESEHs Jgt 2= 4,200 4,200 0
206 M= Hl 3,000 0 3,000
01 MHZ 4l 3,000 0 3,000
O&EN RE0ls=cl 425 7¢
250,000 x123] 3,000
301 L2 A S 1,200 1,200 0
09 HALAHIEA S 1,200 1,200 0
OXNEAN 220ls=2 FWHA &HE4
20,0003 x521%123] 1,200
AEA OIEEAE X £ Fl 200,720 200,720 0
401 Al Bl 28I 200,720 200,720 0
01 A& HI 200,000 200,000 0
ONBENEZZ RXEZ(20000 L)
100,000, 000& 14! 100,000
OXREANE=Z HNBEA AX]
100,000, 000& * 14! 100,000
03 AlE 2 THHI 720 720 0
OAIZ =2l 720,000& x 14! 720
ESANAHC~SEAINC JBAENEZ LS A 400,000 0 400,000
< 200,000
Al 200,000
401 Al BIZ 201 8] 400,000 0 400,000
< 200,000
Al 200,000
01 A& HI 400,000 0 400,000




2N
X ZH -
L= B

el

cZa2e|
&N nE 435
AAEH 012 243 MY

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
sSEAMNAHCI~SEAHZ JBEAHE2 HEZ A
L=380m) 400,000,000& * 14 400,000
T 200,000
Al 200,000
HHEHALH (=2 2el) 177,012 124,607 52,405
olEa2gHl(E2 el u) 119,569 75,263 44,306
ol 2 A 119,569 75,263 44,306
101 @121l 119,569 75,263 44,306
01 2% 75,023 72,368 2,655
OAZ2AZ22E 10,003& *2591 x300 Al 2+ 75,023
02 JIEt& 2% 3,001 2,895 106
OANZ2A2RE 10,003& 101 *300A| 2+ 3,001
03 RIAHSEZZRE 41,545 0 41,545
og&zzs4 41,545
>AED - SNMRAOIZ, Bots JIsHal)
14,398& 2021 %240 Al 2t 6,912
DEISMA(Z2 X 22])
12,0663 * 1121 x240 A| 2t 31,855
DB XA(C2HE2E 21, 2%)
11,5743 x221 %120 Al 2t 2,778
Jl2ddl(=2&el) 57,443 49,344 8,099
DR sl 57,443 49,344 8,099
201 LEt2 A Y| 36,983 35,544 1,439
01 At 22l Yl 31,380 30,240 1,140
O1 detx=2H| 18,900
DEMESYE =8| 18,900,000 =14 18,900
O5 2 &l 12,480
Dottt - 222X 8,000& 262! x55| x12& 12,480
02 352494l 5,603 5,304 299
O1 222=2 % HA 5,603
>DRERZ 5,603
[OR=PIRAT 1,930& 100+ 12& 2,316
OBt H 330& *830S x12& 3,287
202 0db] 15,000 9,600 5,400
01 2LHOHI 15,000 9,600 5,400
OJl2g2+3u | 1,000,000& x12& 12,000
O2&2 gRF8 220l
3,000,000 * 14 3,000
203 € R =&lY| 5,460 4,200 1,260
04 2SI L RF=AH| 5,460 4,200 1,260
ORABIEYERFAH| 455,000& 128 5,460




